
Note that both a blank value and an N value should fail the check

Total Count of Grants with TPM Sell - Cover / Sell - All / Cash Transfer BUT Account is not Active =Y

Total Count of Grants with TPM Check / Payroll / Trade BUT Account is not Either Active = Y or Min Demo = Y

Correct Answers, according to manual tabulation

2 Total number of Grants with TPM Sell - Cover / Sell - All / Cash Transfer BUT Account is not Active =Y

3 Total number of Grants with TPM Check / Payroll / Trade BUT Account is not Either Active = Y or Min Demo = Y



User ID Grant Number TPM

AB156 2434335 Sell - Cover

CD456 1434145 Trade

CD456 2554354 Sell - Cover

LJ9622 8986497 Sell - All

LJ9622 5581354 Trade

QR6543 8975893 Cash Transfer

KR4533 6165460 Check

KR4533 5783157 Check

PW8789 4615175 Payroll



User ID Active Min Demo

AB156 Y N

CD456 Y N

LJ9622

QR6543 N Y

KR4533 N N

PW8789 N Y


